Es s = Viso
Esp=—FEps=1Vspo
Esy=—-Eys=mVy,
Es.,=—-E,;=nVyo
Esuy = V3ImVigo
Eqy. = V3mnVi,

Es,zx = \/gnlvsda
Esvmz_yz = @([2 — mQ)Vsd(r
Es’gzzfrz = [n2 — (l2 + m2)/2]‘/5d0

Eyz = 1Vipo + (1= 1) Vppr
Ery=Ey:=ImVyp, —ImVppr

Er.=FE..=nVpe —InVppr

Erwy = —Epyr = V3PmVya, + m(1 — 202)Vpar

Eyy. = —Eysp = V3lmnVyio — 2lmnVpax

Epoo = —FE.p o = V3PnVpao + n(1 — 212)Vyir

Byproyp = =By o = G112 = m*)Vyao + 11— 12 +m?)Vyar
Eys.2 2 = —FEs.2 2, = 1[0 — (12 + m?)/2]Vpao — V3In*Vpar

Eyy = m*Vipo + (1 = m?)Vypr
Ey,
Ey oy = —Ey oy = V3m* Wpao + 1(1 — 2m?*)Vpar
Eyy:=—Ey.y = \/nganda +n(l— 2m2)Vpdﬂ
By oo = —Eapy = V3mnlVpio — 2mnlVpax

Eyaryp = Bm(® = m*)Vyao — m(1 + 12 = m*)Vpan

lyy,i’>z2—r2 = m[nQ - (l2 + m2)/2]‘/pd0 - \/gan‘/Pdﬂ'

=B,y =mnVype —mnVppr

E.. =1Vppo + (1 = 12)Vppr

Ewy=—Epy.= \/gmnlvpda — 2mnlVpgn
E.y.=—FEy..=V3n*mV,y, + m(l — 2n%)V,4n

E.o = —FE.p. = V30 1Wpao +1(1 — 20*)Vyir

Brooyp = =By = Y3n(2 = m2) Vo — (12 = m)Viar

Ez,322—r2 = 7E3z2—7"2,z = n[n2 - (l2 + mz)/Q]‘/PdU + \/§n(l2 + m2)vpdﬂ'

By ay = 3Pm*Vaao + (I + m?* — 4°m*)Vaar + (n® + 1*m*) Vaas
Eayyz = Byz ay = 3Im*nVaio + In(1 — 4m?)Vaar + In(m? — 1) Vaas



Eryro = FEoppy = 32mnVyg, + mn(l — 412)Vddﬂ— + mn(12 — D)Vaas
Emy’xz,yz = Emz,yz’xy = %l’l’l’b(l2 — mQ)VddU + 21m(m2 - lZ)Vdd7T + [lm(12 — m2)/2}Vdd5
E$y73z2_rz = E322_727Iy = \/g [lm(nQ — (12 + m2)/2)Vde — 2lmn2Vddw + [lm(l + 77,2)/2]Vdd5]

Eys e = 3m*n*Vaae + (m? +n? — 4m*n?)Vaar + (n? + m*n?)Vaas

Eyszz = Eupye = 3mn2lVage + mi(1 — 4n2)Vaar + mi(n?® — 1)Vaas

Ey. a2 = Smn(1? — m?)Vaae — mn[l + 212 — m*)|Vaar + mn[l + (12 = m?) /2] Vaas

By 3.2p2 = V3 [mn(n® — (12 + m?)/2)Vago + mn(1? + m* — n?)Vygr — [mn(1> + m?) /2] Vaas|

E.p 0 = 30212 Vago + (n® + 12 — 4n%1?)Vagr + (12 4+ n?1?)Vags
Eza:,wQ*yZ = E;p2fy2,z:1: = %nl(lQ _ mQ)Vdda + ’I’Ll[l _ 2([2 _ mz)]Vddﬂ- _ nl[l _ (l2 _ m2)/2]Vdd6
Bavgzyz = Eg2 2 = V3 [In(n® — (1P +m2)/2)Vage + In(1> +m?* — 0°)Vyar — [In(® +m?) /2] Vags]

Ea:27y2,:r27y2 — %(F _ 7712)2‘/{111(7 4 [l2 4 m2 _ (l2 _ mz)Q}Vddn 4 [nz 4 (l2 _ m2)2/4]vdd6
Exz—y2,322—r2 = ESZZ—T2,x2—y2 = \/g [(l2 — mz)[n2 — (12 + mz)/Z]Vddg/Q =+ nz(mZ — lz)Vddﬂ- + [(1 + n2)(l2 — m2)/4]Vdd5]

B2 p23,0 52 = [nQ — (l2 + m2)/2]2Vddg + 3n2(12 + mQ)Vddw + %(12 + m2)2Vdd5



